1. Cymma BCEX

HaTypajbHBIX

> 0 pasna:

219 3)21

HaTypaJbHBIX

2 0 pasna:

2)35  3)5

HaTypajbHbIX

2)23  3)38

HaTypajIbHBIX

> 0 pasna:

2)43  3)22

(6—x)-(x+4)*(x—13)?
11
2. Cymma BCEX
(5—x)- (x+6)*(x—19)?
1) 34
3. Cymma BCEX
(6—x)-(x+7)*(x—17)* > 0 pasna:
121
4. Cymma BCEX
(7—x)-(x+4)*(x—15)*
1) 28
5. Cymma BCEX

(8—x)- (x+6)*(x—11)?

1)36

HaTypajbHbIX

> (0 pasHa:

2)19  3)15

pemieHuit

434 5)36

pereHmit

4H15  5)24

perieHuit

440 57

perreHuit

418 5)45

perieHui

4)49  5)47

PELY UT u LD — maremaruka

HEepaBEeHCTBA

HEpaBCHCTBa

HepaBeHCTBa

HEepaBeHCTBA

HepaBeHCTBa



